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Instructions : (1) Cfl'leck the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.
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Qerfasuuleaar wrom eLada Baab ghyesmiw dlaLamwus
Gaibtshsgs GOl Grear clollasmyb Gsigg epseab. 15x1=15

Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.
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(B) No Value
(A) No Data
X Nomi (D) No Color
4]
To remove the highlighting after selecting the text, which option is to be selected from
color palette ?
(A) No Data ®) No Value
(C) NoFil (D) No Color

eoLmit gyl eopLT -ﬂb‘“mﬁ] @ Qsr_nflea grib g L G gy
unsgdle areucuarey @@&‘i@m ?

(A) 15 Sifigeih (B) 05 sygan

© 1 shgob (D) 125 smgaw

In StarOffice Writer document what i the default left and right margins ?

(A) 1.5 inch (B) 0.5 inch

(C) 1inch (D) 1.25 inch

Si_LaeansCaride, Agriéfluns oda yeraapamar Gy
HEnLpLILNT

(A) mereTenmEd (B) euflenssar
(C) wrly (D) @uywd

A continuous group of cells in a Werksheet is called as :
(A) cells (B) rows

(C) range (D) proup
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@ Laudpsend ?
(A) =SUM(AT+A2)

{E!:l -SUM{S"IL“I!“.A - Shl‘l.". | pAT]

(C) =SUM(Sheet, B4:C4; Sheey?, IM-ce;]

(D) =5UM(Sheetl.A1; Sheet2, A1)

To add values in cell A1 of Shee

i il 1 and A of Sheet2 and Lo store the result in A3 of

be used 7
(A) =SUM(A1+A2)

(B)  =SUM(Sheet1.A1; Sheet1.A3)
(€) =SUM(Sheetl, B4:C4; Sheet2, B:Cy)

(D) =5UM(Sheet1.A1; Sheet2.A1)

sroveud GHlEEL Data arany Qeray ey Asrddldmpgy umdamg ?

(A) Datum (B) Information

(C) Data (D) Data type

The term data comes from which word ?
(A) Datum (B)

Information

(C) Data ;e g
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Sorting of more than one field of a Table at the same time is called as :
(A) Database (B)  Multiple sorting

(C) Report (D) Filtering

s HippuLs CamiLse FuUUePLL g aenlmus QsTam grEn ?

(A) MPEG (B) NxVIEW

(C) JPEG (D) GIF

Which Image files are a lossy format ?

(A) MPEG (B) NxVIEW
(D) GIF

(C) JPEG

abs Qurgster Papisson PeEGED ?
(A) Shift (B) Tab
© Alt (D) Esc
Which key is used to end a presentation ?

(A) Shift (B) Tab

(C) Alt (D) Esc
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Cr+ -, SPSETED The AL o fNeng Heniot sHp016G 2paflng 7

(A \v )

D) \n
Which of the following escape sequence cgn be used for Horizontal tab in C++ 7
t U

(A) \v

(© \a

B\t

Spssramuenhla ‘m -en iy wng) 7
nl=7, n2=8§, m=(nl>n2) ? nl:n2;

(A) 8 ® o
< 7 D 1

Find out the value assigned to ‘m’ where n1 =7, n2=8 m=(n1>n2) ? nl:n2;

(A) 8 (B o0

© 7 D) 1

srhisdr Eesunm senwssuu@damean

(A) wmrhled (B) wiiymaser
(C) EhCuwisar (D) erpssIsaeT
Strings are called as :

(A) Constants (B) Literals

(C) Identifiers (D) Characters
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(A) aflesaiuc QWES@@ B swmihue Geng sy
© epiuaL GHaEEY (D) smedsain . Benézy
. is cal "
During inheritance the existing d255 5 ¢3lled as

{A) Declared class (B)  Abstract class

(C) Base class (D) Derived class

13. ey QuiarCorss HransspPd SHsUuoLure uanys smprgh ?
(A) srey wenmiiy (B) wryflwb
(C) eep Qurdunssd (D) Zmenrésb
Which is the key feature of (Object Oriented Programmings) OOPs ?
(A) Data hiding (B) Inheritance

(C) Encapsulation (D) Abstraction

4. vEsjgal duuiduraesnd aigme Wadambure uyBowsoas
CaranLg 7

(A) pren (B) oy

© Bran® (D) epenm

How many main steps are involved in Medical Transcription ?
{A) Four (B) Five

5 . (D) Three
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( . @ Qenezmugle
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{A} é‘l:l’m“' =] E- EE.I} [B} ﬂ@ﬂumq
(€ urrgar‘rllnﬁ]iﬁmm o i Gmgjﬂ@mw
Illegal access to the network or computer syster ;. called 85 ¢

is ca ’

() Accessibility
(D) Data Management

(A) Cracking
(C) Insecurity

u@$ - 11 / PART . 11

aGauid D Aerss@iE BoLumisa, sapfe dan T 2 -&6
sermauns eflen weflEsayn, pim.

Answer any six questions, in which question no, 24 j5 compulsory-

16.

17.

18.

19.

QsrhRsuarssd aaprd aaa ? Qerplswudés TCsaID Brar®
aPEEEET_([HEET S(mHe.

What is Word Processing ? Give any two examples for Word Processors.

saaliy, SiusEHiuy erdmprd ererer ?
What is Header and Footer 7

Sl LeuenampFnatle) SreEemar ereueuny LHOLMie Qsdieumis 7

How do you edit data in the Worksheet 7

Blén i L_euenans @awe eraémprd eremen ?

What is an Electronic Spreadsheet ?
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D) 2 momppn Qaisd
@ e mogmassd
Werite short notes on :

(1) Morphing

(2) Warping

2. Qupsag uenll B gLl IHPPDEG gy, -

What are the rules for function O“E'IO“dinZ‘; ?

2. udgimaIgs erénpre eréran ?

What is polymorphism ?

23. &L @ser aranug wrg ? TOSBEETQ g,

What are pointers ? Give example.

24. 2. engyenLw Ayl eanent] QuamEEES Gradient -D@ ereumy Wby ?

How do you change the background color of your slide into Gradient ?

@Sl - 111 / PART - 1

aGsaib =ym cflenmés@née el walssan. dam o 33 -&@ semmqluns
aflen_weflsamayib. 6x3=18
Answer any six questions in which question no. 33 is compulsory.

25. evLmit e enplflér 2 drar vatay usf Basaismar ojeuhdar
sllenslivams Gpés el en L gwe@s.

List the various types of paragraph alignments along with their keyboard shortcuts in
StarOffice Writer.
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Fow will vou add tows in o Tab
N SO
oo Wygter 7

a2
-3

oLt e o560 sirdofleh i . v; .
Sl WU Liniteneg,_ o il ufl S @Hlo

Write short note on types of coll referencing i g1 ofice CaI°
Y Sy Office '
28, SUQ) WHPD Bsad uhdl Ny e @y,
.

Write short nole on Data and Information,

29, QRSLGSEESD, Aauds@E@D g @apuT@sdn wrae 2

What is the difference between Filters and Query ?
. ery

30, @auauen-an SLLENGET yeninlien m@wgml'.@n_ér TP

Write the Syntax of Type definition with example

1. C++ -@ Qewhenmy erépmed erevar 7 Gawdapsafler pETEnDEET wiranal 7

What are functions in C++ 7 Whal are the advantages of function ?

32, g @iy ueys :
(i) eNawder pawrss
(i) mis Hlod
(i) sefCQurd sreurdsid
Wrile short note on :
@ Piracy
(i) Virus
{iii) Data Digitization
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voii Innln()

i
for(Int l=0yieti;ie 1)
wout=<gh|i)
for(int jua;pougy)..)
vout<=gh||}
Kotoh();
}

What js the vutpul of the following program 2
Hnclude<lontream.hs
Vinelude<canio, he
char ch[] = {'a’, ‘Bt e, g
void main()
{
for(int 1=0;i<5;1++)
cout<<ch[i];
for{int j=4;j>=0;j--)
cout<<ch(f];
: Ml:
; i
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wer all the questions.

gL b6 Gawud Cumpg eTeueumpy Wb Sepige s Qaiseumit ?
2|00

S QUM ARAHL D UL liul e o g L risefler
i 5 o grem GO
CauaEsT erenan ?

How will you correct spelling errors while typing the document ?

OR

What are the various functions of the icons in the Table formatting toolbar ?

@i peoda sredld Qurmer Csirssd smedl el gerar
EnbuLEsmer eflaul.

2160605
S Leuenemrd Qawellwre cllenenuyd Hemeniosener vl dBs.
Explain the different icons available in Insert Object toolbar in StarOffice Cale.
OR

List the advantages of using Electronic Spreadsheets.
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W zme the roies for Comstractor 2nd Destractor definition and nsage ?
OR

Wt te omtey for devved daa. Whet are the points should be observed while defining

E‘i.--—'..a__,r'z-qc:."
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pinclude<conio. h>
clnss distance
|

int feet, h'-‘!hen;

public:

void diutnnce_auixn{int £, int g

{
feet=f;
inches=i;
1
void display()

{

cout<<*\n Feet :"<<foet<<w\t |nches :"<<inches;

1

distance ope rator+|distance dz)

{
distance d3;
d3.feet=feet+d2.feet:
d3.incl:es=[inchu+d2.im:heal%lz;

d3.feet+=(inches+d2.inches)/12;

return d3;

ol Lt |
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void main()

{

clrser();

distance dist_1, dist_2}
dut_l.dlstnnce_asslgﬂ!m'u];
dist_2.distance_assign(24 1)
distance diut__3=ﬂlltL.l+dlst__35
dist_1.display();
dist_2.display();
dist_3.display();

getch();

i

() vellEuulL Qeup@hlew S wrand srers
(i) uweflliguulL opliyé Ceupamblar peraugene eT(pEIs

(iii) verflbigssiLL Aeup@iuie vwaLESSOILL Beter QruCani9sefiar
Gamd wrg ?

(iv) vefifigssiul e miyé Qewpsmdos QuiGn spblerer eT(WpSeyD

(v) GuGa Gar@asiu@Gerer fiyeler Qeuafluii e erpss.
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pxplain different types of Datab.-,sf._q

OR
Read the following program and angy, th pelow :
E . o ‘11 “1 (A .
ginclude<iostream.h> Westions g~
#include<conio.h>

class distance

{

int feet, inches;

public:

wvoid dtstance_nssign{int f, int j)

{
feet=f;
inches=i;
]
void display()
{

cout<<*\n Feet :"<<feet<<*\t [nches :"<<inches;

]

distance operator+(distance d2)

{
distance d3;
d3.feet=feet+d2.feet;
d3.inches=(inches+d2.inches|%12;

d3.feet+=(inches+d2.inches)/12;

return d3;



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	16

